



## ITERATIVE PROCESSES FOR FIXED POINTS OF NONEXPANSIVE MAPPINGS

H. ZHANG

Department of Mathematics and Statistics, York University, Toronto, M3J 1P3, Canada

**Abstract.** In this article, we investigate an iterative process to have strong convergence for common fixed points of an infinite family nonexpansive mappings. Convergence theorems are established in a real Banach space.

**Keywords.** Banach space; nonexpansive mapping; fixed point; iterative process.

**2000 AMS Subject Classification:** 47H05, 47H09, 47H10.

### 1. Introduction-Preliminaries

Let  $E$  be a real Banach space and let  $E^*$  be the dual space of  $E$ . Let

$$S(E) = \{x \in E : \|x\| = 1\}.$$

Then the norm of  $E$  is said to be Gâteaux differentiable if

$$\lim_{t \rightarrow 0} \frac{\|x + ty\| - \|x\|}{t}$$

exists for each  $x, y \in S(E)$ . In this case,  $E$  is said to be smooth. The norm of  $E$  is said to be uniformly Gâteaux differentiable if, for each  $y \in S(E)$ , the above limit is attained uniformly for  $x \in S(E)$ . The norm of  $E$  is said to be Fréchet differentiable if, for each  $x \in S(E)$ , the above limit is attained uniformly for  $y \in S(E)$ .

It is well known that (uniform) Fréchet differentiability of the norm of  $E$  implies (uniform) Gâteaux differentiability of the norm of  $E$ .

---

E-mail address: [hzhang1974@sina.com](mailto:hzhang1974@sina.com)

Received September 2, 2013

Recall that the normalized duality mapping  $J$  from  $E$  into  $2^{E^*}$  is defined by

$$J(x) = \{f^* \in E^* : \langle x, f^* \rangle = \|x\|^2, \|f^*\| = \|x\|\}, \quad \forall x \in E,$$

where  $E^*$  denotes the dual space of  $E$  and  $\langle \cdot, \cdot \rangle$  denotes the generalized duality pairing.

Recall that, if  $K$  and  $D$  are nonempty subsets of a Banach space  $E$  such that  $K$  is nonempty closed convex and  $D \subset K$ , then a mapping  $Q : K \rightarrow D$  is sunny provided  $Q(x + t(x - Q(x))) = Q(x)$  for all  $x \in K$  and  $t \geq 0$  whenever  $x + t(x - Q(x)) \in K$ . A sunny nonexpansive retraction is a sunny retraction, which is also a nonexpansive mapping.

Let  $C$  be a nonempty closed and convex subset of  $E$  and  $T : C \rightarrow C$  is a nonlinear mapping. In this paper, we use  $F(T)$  to denote the fixed point set of the mapping  $T$ .

Recall that  $T$  is nonexpansive if

$$\|Tx - Ty\| \leq \|x - y\|, \quad \forall x, y \in C.$$

Recall that a mapping  $f : C \rightarrow C$  is a contraction if there exists a constant  $\alpha \in (0, 1)$  such that

$$\|f(x) - f(y)\| \leq \alpha \|x - y\|, \quad \forall x, y \in C.$$

For such a case,  $f$  is also said to be an  $\alpha$ -contraction. In this paper, we use  $\Pi_C$  to denote the collection of all contractions on  $C$ . That is,  $\Pi_C = \{f | f : C \rightarrow C \text{ a contraction}\}$ .

One classical way to study nonexpansive mappings is to use contractions to approximate a nonexpansive mapping [1]. More precisely, take  $t \in (0, 1)$  and define a contraction  $T_t : C \rightarrow C$  by

$$T_t x = t f(x) + (1 - t) T x, \quad \forall x \in C, \tag{1.1}$$

where  $f \in \Pi_C$ . Then Banach's Contraction Principle guarantees that  $T_t$  has a unique fixed point  $x_t$  in  $C$ .

Xu [2] proved that, if  $E$  is a uniformly smooth Banach space, then  $\{x_t\}$  converges strongly to a fixed point of  $T$  and the limit defines the (unique) sunny nonexpansive retraction from  $\Pi_C$  onto  $F(T)$ . Iterative methods are popular tools to approximate fixed points of nonlinear mappings. Recall that the normal Mann's iteration was introduced by Mann [3] in 1953. Recently, construction of fixed points for nonlinear mappings via the normal Mann's iteration has been

extensively investigated by many authors. Ishikawa iteration was introduced by Ishikawa [4] in 1974. Ishikawa iteration generates a sequence  $\{x_n\}$  in the following manner:

$$\begin{cases} x_0 \in C, \\ y_n = (1 - \beta_n)x_n + \beta_n T x_n, \\ x_{n+1} = (1 - \alpha_n)x_n + \alpha_n T y_n, \quad \forall n \geq 0, \end{cases}$$

where  $x_0$  is an initial value and  $\{\alpha_n\}$  and  $\{\beta_n\}$  are real sequences in  $[0, 1]$ .

Therefore, many authors try to modify processes Mann and Ishikawa to have strong convergence for nonexpansive mappings; see [5-9] and the references therein.

In this paper, we investigate an iterative process to have strong convergence for common fixed points of an infinite family nonexpansive mappings. Convergence theorems are established in a real Banach space.

**Lemma 1.1.** [2] *Let  $E$  be a uniformly smooth Banach space,  $C$  be a closed convex subset of  $E$ ,  $T : C \rightarrow C$  be a nonexpansive mapping with  $F(T) \neq \emptyset$  and let  $f \in \Pi_C$ . Then the sequence  $\{x_t\}$  defined by  $x_t = t f(x_t) + (1 - t) T x_t$  converges strongly to a point in  $F(T)$ . If we define a mapping  $Q : \Pi_C \rightarrow F(T)$  by  $Q(f) := \lim_{t \rightarrow 0} x_t$ ,  $\forall f \in \Pi_C$ . Then  $Q(f)$  solves the following variational inequality:*

$$\langle (I - f)Q(f), J(Q(f) - p) \rangle \leq 0, \quad f \in \Pi_C, p \in F(T).$$

**Lemma 1.2.** [10] *Let  $\{x_n\}$  and  $\{y_n\}$  be bounded sequences in a Banach space  $E$  and  $\{\beta_n\}$  be a sequence in  $[0, 1]$  with  $0 < \liminf_{n \rightarrow \infty} \beta_n \leq \limsup_{n \rightarrow \infty} \beta_n < 1$ . Suppose  $x_{n+1} = (1 - \beta_n)y_n + \beta_n x_n$  for all  $n \geq 0$  and*

$$\limsup_{n \rightarrow \infty} (\|y_{n+1} - y_n\| - \|x_{n+1} - x_n\|) \leq 0.$$

*Then  $\lim_{n \rightarrow \infty} \|y_n - x_n\| = 0$ .*

**Lemma 1.3.** *In a Banach space  $E$ , the following inequality holds:*

$$\|x + y\|^2 \leq \|x\|^2 + 2\langle y, j(x + y) \rangle, \quad \forall x, y \in E,$$

*where  $j(x + y) \in J(x + y)$ .*

**Lemma 1.4.** [11] Assume that  $\{\alpha_n\}$  is a sequence of nonnegative real numbers such that

$$\alpha_{n+1} \leq (1 - \gamma_n)\alpha_n + \delta_n, \quad \forall n \geq 0,$$

where  $\{\gamma_n\}$  is a sequence in  $(0, 1)$  and  $\{\delta_n\}$  is a sequence such that

- (a)  $\sum_{n=1}^{\infty} \gamma_n = \infty$ ;
- (b)  $\limsup_{n \rightarrow \infty} \frac{\delta_n}{\gamma_n} \leq 0$  or  $\sum_{n=1}^{\infty} |\delta_n| < \infty$ .

Then  $\lim_{n \rightarrow \infty} \alpha_n = 0$ .

## 2. Main results

**Theorem 2.1.** Let  $C$  be a nonempty closed and convex subset of a uniformly smooth Banach space. Let  $T : C \rightarrow C$  be a nonexpansive mapping and  $f : C \rightarrow C$  an  $\alpha$ -contraction. Assume that  $F(T) \neq \emptyset$ . Let  $\{\alpha_n\}$ ,  $\{\beta_n\}$  and  $\{\gamma_n\}$  be real number sequences in  $(0, 1)$ . Let  $\{x_n\}$  be a sequence generated in the following manner:  $x_0 \in C$  and

$$\begin{cases} y_n = \beta_n T(\gamma_n T x_n + (1 - \gamma_n)x_n) + (1 - \beta_n)x_n, \\ x_{n+1} = \alpha_n f(x_n) + (1 - \alpha_n)y_n, \quad \forall n \geq 0. \end{cases}$$

Assume that the following restrictions are satisfied.

- (a)  $\sum_{n=0}^{\infty} \alpha_n = \infty$ ,  $\lim_{n \rightarrow \infty} \alpha_n = 0$ ;
- (b) there exist constants  $b, b' \in (0, 1)$  such that  $0 < b \leq \beta_n \leq b' < 1$ ,  $\forall n \geq 0$ ;
- (c) there exists a constant  $a \in (0, b]$  such that  $\gamma_n \leq \frac{b-a}{2-b}$ ,  $\forall n \geq 0$ ;
- (d)  $\lim_{n \rightarrow \infty} |\gamma_{n+1} - \gamma_n| = 0$ .

Then the sequence  $\{x_n\}$  converges strongly to some point in  $\mathcal{F}$ .

**Proof.** Since the fixed point set of  $T$  is nonempty, we fix  $p \in F(T)$ . It follows that

$$\begin{aligned} \|y_n - p\| &\leq \beta_n \|T z_n - p\| + (1 - \beta_n) \|x_n - p\| \\ &\leq \beta_n \|z_n - p\| + (1 - \beta_n) \|x_n - p\| \\ &\leq \|x_n - p\|, \end{aligned}$$

which yields that

$$\begin{aligned} \|x_{n+1} - p\| &\leq \alpha_n \|f(x_n) - p\| + (1 - \alpha_n) \|y_n - p\| \\ &\leq \alpha_n \|f(x_n) - f(p)\| + \alpha_n \|f(p) - p\| + (1 - \alpha_n) \|y_n - p\| \\ &\leq [1 - \alpha_n(1 - \alpha)] \|x_n - p\| + \alpha_n \|f(p) - p\|. \end{aligned}$$

By simple inductions, we obtain that

$$\|x_n - p\| \leq \max\left\{\frac{\|p - f(p)\|}{1 - \alpha}, \|x_0 - p\|\right\}, \quad \forall n \geq 0.$$

This shows that the sequence  $\{x_n\}$  is bounded, so are  $\{y_n\}$  and  $\{z_n\}$ . Next, we show that

$$\lim_{n \rightarrow \infty} \|x_{n+1} - x_n\| = 0. \quad (2.1)$$

Put  $v_n = \frac{x_{n+1} - (1 - \beta_n)x_n}{\beta_n}$ . It follows that

$$x_{n+1} = \beta_n v_n + (1 - \beta_n)x_n, \quad \forall n \geq 0. \quad (2.2)$$

Now, we compute  $\|v_{n+1} - v_n\|$ . Note that

$$\begin{aligned} v_{n+1} - v_n &= \frac{\alpha_{n+1}f(x_{n+1}) + (1 - \alpha_{n+1})y_{n+1} - (1 - \beta_{n+1})x_{n+1}}{\beta_{n+1}} \\ &\quad - \frac{\alpha_n f(x_n) + (1 - \alpha_n)y_n - (1 - \beta_n)x_n}{\beta_n}. \end{aligned}$$

It follows that

$$\begin{aligned} \|v_{n+1} - v_n\| &\leq \frac{\alpha_{n+1}}{\beta_{n+1}} \|f(x_{n+1}) - y_{n+1}\| + \frac{\alpha_n}{\beta_n} \|y_n - f(x_n)\| \\ &\quad + \|z_{n+1} - z_n\|. \end{aligned} \quad (2.3)$$

It follows that

$$\limsup_{n \rightarrow \infty} (\|v_{n+1} - v_n - \|x_{n+1} - x_n\|) \leq 0.$$

In view of Lemma 1.2, we see that  $\lim_{n \rightarrow \infty} \|v_n - x_n\| = 0$ , which combines with (2.2) shows that

(2.1) holds. Now, we are in a position to show that  $\lim_{n \rightarrow \infty} \|Tx_n - x_n\| = 0$ .

Note that

$$\begin{aligned} \|x_n - Tx_n\| &\leq \|x_n - x_{n+1}\| + \|x_{n+1} - y_n\| + \|y_n - Tz_n\| + \|Tz_n - Tx_n\| \\ &\leq \|x_n - x_{n+1}\| + \alpha_n \|f(x_n) - y_n\| + (1 - \beta_n) \|x_n - Tx_n\| \\ &\quad + (2 - \beta_n) \gamma_n \|Tx_n - x_n\|. \end{aligned}$$

From the condition (c), we arrive at  $a\|x_n - Tx_n\| \leq \|x_n - x_{n+1}\| + \alpha_n\|f(x_n) - y_n\|$ ,

In view of the conditions (a), (b), we obtain that  $\lim_{n \rightarrow \infty} \|x_n - Tx_n\| = 0$ . Next, we show that  $\limsup_{n \rightarrow \infty} \langle x^* - f(x^*), J(x^* - p) \rangle \leq 0$ , where  $x^* = \lim_{t \rightarrow 0} x_t$  with  $x_t$  being the fixed point of the contraction  $x \mapsto tf(x) + (1-t)Tx$ . Then  $x_t$  solves the fixed point equation  $x_t = tf(x_t) + (1-t)Wx_t$ . Thus we have  $\|x_t - x_n\| = \|(1-t)(Tx_t - x_n) + t(f(x_t) - x_n)\|$ . On the other hand, for any  $t \in (0, 1)$ , we see that

$$\begin{aligned} \|x_t - x_n\|^2 &= (1-t)(\langle Tx_t - Tx_n, J(x_t - x_n) \rangle + \langle Tx_n - x_n, J(x_t - x_n) \rangle) \\ &\quad + t\langle f(x_t) - x_t, J(x_t - x_n) \rangle + t\langle x_t - x_n, J(x_t - x_n) \rangle \\ &\leq (1-t)(\|x_t - x_n\|^2 + \|Tx_n - x_n\|\|x_t - x_n\|) \\ &\quad + t\langle f(x_t) - x_t, J(x_t - x_n) \rangle + t\|x_t - x_n\|^2 \\ &\leq \|x_t - x_n\|^2 + \|Tx_n - x_n\|\|x_t - x_n\| + t\langle f(x_t) - x_t, J(x_t - x_n) \rangle. \end{aligned}$$

It follows that  $\langle x_t - f(x_t), J(x_t - x_n) \rangle \leq \frac{1}{t}\|Tx_n - x_n\|\|x_t - x_n\|$ ,  $\forall t \in (0, 1)$ .

It follows that  $\limsup_{n \rightarrow \infty} \langle x_t - f(x_t), J(x_t - x_n) \rangle \leq 0$ .

Since the fact that  $J$  is strong to weak\* uniformly continuous on bounded subsets of  $E$ , we see that for any  $\varepsilon > 0$ , there exists  $\delta > 0$  such that  $\forall t \in (0, \delta)$  the following inequality holds  $\langle f(x^*) - x^*, J(x_n - x^*) \rangle \leq \langle x_t - f(x_t), J(x_t - x_n) \rangle + \varepsilon$ . This implies that  $\limsup_{n \rightarrow \infty} \langle f(x^*) - x^*, J(x_n - x^*) \rangle \leq \limsup_{n \rightarrow \infty} \langle x_t - f(x_t), J(x_t - x_n) \rangle + \varepsilon$ . Since  $\varepsilon$  is arbitrary, we see that  $\limsup_{n \rightarrow \infty} \langle f(x^*) - x^*, J(x_n - x^*) \rangle \leq 0$ . In view of Lemma 1.3, we see that

$$\begin{aligned} \|x_{n+1} - x^*\|^2 &\leq (1 - \alpha_n)^2 \|x_n - x^*\|^2 + 2\alpha_n \|f(x_n) - f(x^*)\| \|x_{n+1} - x^*\| \\ &\quad + 2\alpha_n \langle f(x^*) - x^*, J(x_{n+1} - x^*) \rangle \\ &\leq (1 - \alpha_n)^2 \|x_n - x^*\|^2 + \alpha_n \alpha (\|x_n - x^*\|^2 + \|x_{n+1} - x^*\|^2) \\ &\quad + 2\alpha_n \langle f(x^*) - x^*, J(x_{n+1} - x^*) \rangle, \end{aligned}$$

which implies that

$$\begin{aligned} \|x_{n+1} - x^*\|^2 &\leq \frac{(1 - \alpha_n)^2 + \alpha_n \alpha}{1 - \alpha_n \alpha} \|x_n - x^*\|^2 + \frac{2\alpha_n}{1 - \alpha_n \alpha} \langle f(x^*) - x^*, J(x_{n+1} - x^*) \rangle \\ &\leq \left[1 - \frac{2\alpha_n(1 - \alpha)}{1 - \alpha_n \alpha}\right] \|x_n - x^*\|^2 \\ &\quad + \frac{2\alpha_n(1 - \alpha)}{1 - \alpha_n \alpha} \left[ \frac{1}{1 - \alpha} \langle f(x^*) - x^*, J(x_{n+1} - x^*) \rangle + \frac{\alpha_n}{2(1 - \alpha)} M \right], \end{aligned}$$

where  $M$  is an appropriate constant such that  $M \geq \sup_{n \geq 1} \{\|x_n - x^*\|^2\}$ . Put  $j_n = \frac{2\alpha_n(1 - \alpha)}{1 - \alpha_n \alpha}$  and  $t_n = \frac{1}{1 - \alpha} \langle f(x^*) - x^*, J(x_{n+1} - x^*) \rangle + \frac{\alpha_n}{2(1 - \alpha)} M$ . It follows that  $\|x_{n+1} - x^*\|^2 \leq (1 - j_n) \|x_n - x^*\|^2 + j_n t_n$ ,  $\forall n \geq 0$ . It follows from the conditions (a), (b) that  $\lim_{n \rightarrow \infty} j_n = 0$ ,  $\sum_{n=0}^{\infty} j_n = \infty$ ,  $\limsup_{n \rightarrow \infty} t_n \leq 0$ . In view of Lemma 1.4, we obtain that  $x_n \rightarrow x^*$  as  $n \rightarrow \infty$ . This completes the proof.

#### REFERENCES

- [1] F.E. Browder, Fixed point theorems for noncompact mappings in Hilbert spaces, Proc. Natl. Acad. Sci. USA 53 (1965) 1272-1276.
- [2] H.K. Xu, Viscosity approximation methods for nonexpansive mappings, J. Math. Anal. Appl. 298 (2004) 279-291.
- [3] W.R. Mann, Mean value methods in iteration, Proc. Amer. Math. Soc. 4 (1953) 506-510.
- [4] S. Ishikawa, Fixed points by a new iteration method, Proc. Amer. Math. Soc. 44 (1974), 147-150.
- [5] Y.J. Cho, S.M. Kang, X. Qin, Approximation of common fixed points of an infinite family of nonexpansive mappings in Banach spaces Comput. Math. Appl. 56 (2008) 2058-2064.
- [6] S. Plubtieng, R. Wangkeeree, Strong convergence of modified Mann iterations for a countable family of nonexpansive mappings, Nonlinear Anal. 70 (2009) 3110-3118.
- [7] X. Qin, Y. Su, M. Shang, Strong convergence of the composite Halpern iteration, J. Math. Anal. Appl. 339 (2008) 996-1002.
- [8] S. Reich, Strong convergence theorems for resolvents of accretive operators in Banach spaces, J. Math. Anal. Appl. 75 (1980) 287-292.
- [9] G. Marino, V. Colao, X. Qin, S.M. Kang, Strong convergence of the modified Mann iterative method for strict pseudo-contractions, Comput. Math. Appl. 57 (2009) 455-465.
- [10] T. Suzuki, Strong convergence of krasnoselskii and manns type sequences for one-parameter nonexpansive semigroups without bochner integrals, J. Math. Anal. Appl. 305 (2005) 227-239.
- [11] H.K. Xu, An iterative approach to quadratic optimization, J. Optim. Theory Appl. 116 (2003) 659-678.